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Note -

First 15 minutes are allotted for the candidates to read the question

paper.
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Instruction ;
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All questions are compulsory. Marks allotted to each question are

_given in the margin.

ii)
i)

iv)

In numerical questions, give all the steps of calculation.
Give relevant answers to the questions.

Give chemical equations, wherever necessary.
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M) [Co(NH,),Cl, |Cl & Co ® STHEHAI Tear

i) 2 ii) :3

i) 4 iv) ]
) @iﬂﬁmﬁz@qﬁmﬂmmﬁqmw%ﬁ

i) H,0, ¢ i)  CrO,Cl, T

iii)y Cl,gq | iv)  KMnO, U J

g) A St seiore ) afiea el mem d blala 4 03 s

B 8
i)y  =rfefe f i)y p-EEgEd A=

i)  weIrE= iv) A=A |
9) frafefmfHiwRadheadte
) frefima i) frefE B,
i) faafm C iv) faefm D I
1. Four alternatives are given in cach part of this question. Sclect the

correct alternative and write it in your answer-book :

The colligative property of a solution depends upon

i) the number of particles of solute

ii) the nature of particles of solute

the nature of particles of solvent

the nature of particles of both solute and solvent

a)

iii)
iv)
b) Oxidation number of Mn in KMnQ, is

i) ZEro i) +2

iii) +4 : iv) +7 1
c) The coordination number of Co in [Co(NH, )4CL, |Cl is

i) 2 ii) 3

i) 4 iv) 6 ]
d) In Etard’s reaction, tolune is oxidised to benzaldehyde by

i) H,O, ii) Cr0O,Cl,

iiij Cl, iv)] KMnO, - ]
e) Reaction of Benzene diazonium chloride with phenol in basic

medium gives

i) Diphenyl ether ii) p-hydroxy azobcnzenc

1

iii) Chlorobenzene iv)]  Benzenc
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Deficiency of which vitamin causes nightblindness ?

1) Vitamin A i)  Vitamin B,

ity  Vitamin C iv)  Vitamin D 1
Rt rerg & HIERAT 91 Hiererdl % drg At @ TE Hifl 7 HH
AT & wiEda % e ey mfE e o 2
Wﬁﬁﬂ%ﬁmqﬁﬁzmﬁﬁﬁﬁzwmﬁﬁmmwﬁm
A 1 "tEA g3 Ty 2
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Explain the difference between molarity and molality of a solution.
How does a change in temperature influence their values ? 2

Discuss the method of preparation of potassium permanganate
from pyrolusite and write the structural formula of permanganate

ion. 2
Explain ionisation isomerism and linkage isomerism iIn
coordination compounds with example. 2
- Discuss the mechanism of unimolecular nucleophilic substitution
reaction (Sy1) in haloalkanes. 2
samsysiial focg aen amusfie faomas @ 93 faem & fore wase fam 6
=TET Fifere| 39 Fam = it 5w wi" il 2
T & fFAcieftet 6t frefafy augnsu) 2

heform faer qon e srfiveds gro Ufeserse qw Hdm § fsa we
i) 5
Freaigrgge i ghoafia e a1 TR @ weew § fade Rfag 2

Explain Raoult’s law for solutions containing non-volatile solute in

volatile solvent. Derive mathematical expression for this law. 2
Explain the mechanism of dehydration of ethanol. D)
Explain the difference between aldehydes and ketones by Fehling
solution and Schiff reagent. 2
Define carbohydrates and write the differences between glucose
and fructose. 2

13000/1338 [ Turn over



347(GE)

4.

%)

)

4

tirerel 3ae fug® @1 qfonid <hifsi) 0-6 g aRA (A G = 60) %
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)  Lu(OH), 1 3&N La(OH), 3t & 4] g 8 ?

i) Wﬂ%mﬁmﬁﬂamm#ﬂqm%ﬁaﬁmﬁm

feaofi ﬁ‘lﬁﬂQI 1+2

Define molal elevation constant. Calculate the boiling point of an
= 60) In

aqueous solution containing 0-6 g of urea {molar mass =
100 g of water. The value of molal elevation constant for water is

0-52 K kg mol™* and boiling point of water is 373-15 K. 3
the difference between an electrochemical cell and
cell. State Kohlrausch’s law and write its applications. 3
n. Derive the integrated
3

Explain
electrolytic

Define molecularity and order of a reactio
rate equation for the rate constant of first order reaction.

i) Why is La{OH), stronger base than Lu(OH); ?
ii) Write a short note on the paramagnetic behaviour and
formation of coloured ions of transition elements. 1 +2

gqqaama%%?mmﬁaﬁgmﬁ%-oz?mﬁaﬁﬁ
it @1 avi iR
ii) frferftad et % f¥o a0 Fo =l o AR ;

Mg (solid) | Mg?*(0-1M) | Cu**(0- 001M) | Cu(solid)

fr2 . E%Cu®* |Cu)=+0-34V

E°( Mg** |Mg)=-2-37V - 2 +2

frdt ARRFN ¥ I W A9 F o UNE BT & P U wew Hife dl
afufran 10 fre 4 20% QUi Bt B1 FRBEA & §0% quf B & W AT
gua 6 o SR (RET # ¢ log 2 = 0-3010 @1 log 8 = 0-9031)1 + 3
i) [Cr(NH,)]** g 2, =% [Ni(CN),)?* wlergmashm 21
FarHRdl HEy g & YR T g9aRT|
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i) frefafya swagEsE el % 1.U.P.A.C. T fafia
#)  K[Cr(H,0),(C,0,),]
§) [Pt CI(NO,)(NH,),] SO,

i) nﬁmww%?nmﬁmmﬁaaﬂhﬁﬁm

ii) ﬁﬁasﬁmvﬁmﬂmﬁ?ﬁwéﬁmﬁmml
ges of hydrogen-

2+ 2

2+ 2

i) What are fuel cells ? State fwo advanta
oxygen fuel cell over ordinary cell.
11) Calculate the e.m.f. of the following cell :

Mg (solid) | Mg?*(0-1M) | Ccu?*(0-001M)| Cu(solid)

Given : E%(Cu? |Cu)=+0:34V

E°( Mg?* |Mg)=-2-37V 2+ 2

t of temperature on the rate of reaction ? A first
minutes. Calculate the time
( Given log 2 = 0-3010

1+3

What is the effec
order reaction is 20% completed in 10
taken for 80% completion of the reaction.

and log 8 = 0:9031)
i) [Cr(NH,),]* is paramagnetic while [Ni(CN),]%* is
diamagnetic. Explain on the basis of valance bond theory.
ii) Write L.U.P.A.C. names of the following coordination
compounds !
a)  K|Cr(H,0),(C,0,),]
b) - [Pt CI(NO,)(NH,),] SO,
i) - What are nucleic acids ? Discuss the structure of DNA with

diagram. https://www.upboardoniine.com

ii) Describe the primary and secondary structures of proteins.
2+2

Wﬁmﬁmﬂmﬁﬁmwﬁml
ﬁﬁaﬁﬂqwméﬂ@ﬁmﬁ?ﬂamﬁmﬁmﬁm:

2+2

1+2+2
i) géa-fefen e

i) Re-seracE AR
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Bt & 2
@)  trafaien @ e ot frfag - 142+2
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m P
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3) et @ i and
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6. a) Explain the resonance effect in nucleophilic substitution reactions
of haloarenes. By giving the example of chlorobenzene, write short
note on the following : 1+2+2
i) Wurtz-Fittig reaction
ii) Friedel-Crafts reaction.
OR

What happens when — (write chemical cquat,ic;ns only)
1+1+1+1+1

i) Ethyl bromide reacts with sodium ethoxide ?
Ethyl chloride reacts with alcoholic KCN ?

Chlorobenzene reacts with nitric acid ?
n-butyl chloride reacts with alcoholic KOH ?
' Ethyl bromide reacts with magnesium metal in the presence

of dry ether ?

e YaTaV i qu
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Write short notes on the following : 1+2+72
i) Preparation of ethanol from fermentation of sugar

ii) Reimer-Tiemann reaction
iii) Williamson’s synthesis.

OR )
Write chemical equations for the preparation of primary,
secondary and tertiary alcohols from Grignard’s reagent. 3

How will you obtain the following ? (write chemical equations

i)

i)

only)

a) Picric acid from phenol

b) Methanol from ethanol. 1 +1
frefafaa w afiqw feooft fafe 2+2+1

i) Fiem sfufen
i)  TewEE-siE affEm
i) Uegid dga|
e
frafafaa =1 o9 F2 IH F 2 (SFaw ggEie arfeor faRew)
1+1+1+1+1

) whfew o A ofye WRe
i)  UHRE ¥ WA ERge
i) UEfifew v @ REifent wiRTEe
jv)  Swigel SIS § d~ifeeEse
v) SIS / S I |
Frefafiaa ® dfém frooft fafae .
i) mﬁﬁﬁmm
i) &AM SEmEe s
i)  hrfaa tdfle srfiisean

Jrer
e @ i Sduifian seiRse foRE YR S S R 2 d=iN
Ut wese o fefifea § g fre wew wiafda =i »

2+2+1

2+1+1+1
i) w=I
i) "
iii)  ATggIE=IA|
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7. a) Write short notes on the following : ’ 2+2+1
i) Cannizzaro’s reaction
ii) Gattermann-Koch reaction

iii)  Aldol condensation.
OR

How will you obtain the following ? (write chemical equations only)
1+1+1+1+1

i) Ethyl acctate from acetic acid
ii) Acetone hydrazone from acetonc
iii) Acetyl chloride from acetic acid
iv) Benzaldehyde from benzyl chloride
v) Benzoic acid from benzamide.
b) Write short notes on the following : ) 2+2+1
i) Gabriel phthalimide synthesis
ii) Hoffmann bromamide reaction

iiij  Carbylamine reaction.

OR
How is benzene diazonium chloride prepared from aniline ? How
will you convert benzene diazonium chloride into the following ?

2+1+1+1
1) Benzene

ii) Chlorobenzene
ii) Nitrobenzene.
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